72nd Avenue Trail South Extension, Sunnyvale Park to Stewart Avenue I.D. 6999-18-89 (#9344291)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 10/23/2024 08:00 AM CDT

		1									T			
					PGA Inc.		A-1 Exc	avating LLC	Haas	Sons, Inc.	Ea	rth Inc.	Highway Landscapers, Inc.	
Line Item	Item Code	Item Description	UofM	Qty	Unit Price Extension		1	Extension	Unit Price	Extension	 		· ·	Extension
	1	<u> </u>		1 .		Part I - I		<u>.</u>	l					
1	201.0105	CLEARING	STA	5	\$1,326.32	\$6,631.60	\$500.00	\$2,500.00	\$650.00	\$3,250.00	\$1,000.00	\$5,000.00	\$750.00	\$3,750.00
2	201.0120	CLEARING	ID	12	\$22.21	\$266.52	\$5.00	\$60.00	\$45.00	\$540.00	\$25.00	\$300.00	\$75.00	\$900.00
3	201.0205	GRUBBING	STA	5	\$555.26	\$2,776.30	\$1,500.00	\$7,500.00	\$650.00	\$3,250.00	\$800.00	\$4,000.00	\$750.00	\$3,750.00
4	201.0220	GRUBBING	ID	12	\$4.21	\$50.52	\$20.00	\$240.00	\$25.00	\$300.00	\$20.00	\$240.00	\$50.00	\$600.00
5	204.0100	REMOVING CONCRETE PAVEMENT	SY	196	\$12.00	\$2,352.00	\$11.00	\$2,156.00	\$22.00	\$4,312.00	\$20.00	\$3,920.00	\$10.00	\$1,960.00
6	204.0150	REMOVING CURB & GUTTER	LF	216	\$6.00	\$1,296.00	\$8.00	\$1,728.00	\$10.00	\$2,160.00	\$20.00	\$4,320.00	\$8.00	\$1,728.00
7	204.0900.S	REMOVE AND REINSTALL FENCE	LF	130	\$53.16	\$6,910.80	\$30.00	\$3,900.00	\$50.50	\$6,565.00	\$52.00	\$6,760.00	\$50.50	\$6,565.00
8	205.0100	EXCAVATION COMMON	CY	981	\$10.00	\$9,810.00	\$25.00	\$24,525.00	\$18.55	\$18,197.55	\$41.00	\$40,221.00	\$17.00	\$16,677.00
9	208.0100	BORROW	CY	1433	\$16.00	\$22,928.00	\$37.00	\$53,021.00	\$20.25	\$29,018.25	\$31.00	\$44,423.00	\$20.00	\$28,660.00
10	305.0120	BASE AGGREGATE DENSE 1-1/4-INCH	TON	1300	\$17.00	\$22,100.00	\$32.00	\$41,600.00	\$14.50	\$18,850.00	\$25.00	\$32,500.00	\$19.00	\$24,700.00
11	311.0110	BREAKER RUN	TON	632	\$18.00	\$11,376.00	\$19.00	\$12,008.00	\$19.10	\$12,071.20	\$28.00	\$17,696.00	\$19.00	\$12,008.00
12	320.0135	CONCRETE BASE 7-INCH	SY	86	\$136.84	\$11,768.24	\$87.00	\$7,482.00	\$81.00	\$6,966.00	\$77.00	\$6,622.00	\$65.00	\$5,590.00
13	415.0070	CONCRETE PAVEMENT 7-INCH	SY	105	\$136.84	\$14,368.20	\$84.00	\$8,820.00	\$81.00	\$8,505.00	\$77.00	\$8,085.00	\$93.75	\$9,843.75
14	416.0610	DRILLED TIE BARS	EACH	441	\$12.63	\$5,569.83	\$18.00	\$7,938.00	\$6.20	\$2,734.20	\$17.00	\$7,497.00	\$15.00	\$6,615.00
15	465.0105	ASPHALTIC SURFACE	TON	327	\$148.42	\$48,533.34	\$155.00	\$50,685.00	\$166.16	\$54,334.32	\$171.00	\$55,917.00	\$140.16	\$45,832.32
16	504.0900	CONCRETE MASONRY ENDWALLS	CY	23	\$2,254.00	\$51,842.00	\$1,100.00	\$25,300.00	\$1,614.00	\$37,122.00	\$2,000.00	\$46,000.00	\$1,800.00	\$41,400.00
17	520.8000	CONCRETE COLLARS FOR PIPE	EACH	2	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	\$850.00	\$1,700.00	\$1,500.00	\$3,000.00	\$850.00	\$1,700.00
		APRON ENDWALLS FOR CULVERT PIPE												
18	522.1012	REINFORCED CONCRETE 12-INCH	EACH	1	\$750.00	\$750.00	\$2,120.00	\$2,120.00	\$1,760.00	\$1,760.00	\$2,500.00	\$2,500.00	\$965.00	\$965.00
		APRON ENDWALLS FOR CULVERT PIPE												
19	524.0612	SALVAGED 12-INCH	EACH	1	\$500.00	\$500.00	\$820.00	\$820.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$350.00	\$350.00
		APRON ENDWALLS FOR CULVERT PIPE												
20	524.0630	SALVAGED 30-INCH	EACH	1	\$600.00	\$600.00	\$1,120.00	\$1,120.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$450.00	\$450.00
21	601.0409	CONCRETE CURB & GUTTER 30-INCH TYPE A	LF	950	\$36.84	\$34,998.00	\$22.00	\$20,900.00	\$38.60	\$36,670.00	\$22.00	\$20,900.00	\$41.90	\$39,805.00
		CONCRETE CURB & GUTTER 6-INCH SLOPED 36-												
22	601.0555	INCH TYPE A	LF	153	\$63.16	\$9,663.48	\$78.00	\$11,934.00	\$48.85	\$7,474.05	\$72.00	\$11,016.00	\$56.00	\$8,568.00
		CONCRETE CURB & GUTTER 6-INCH SLOPED 36-												
23	601.0557	INCH TYPE D	LF	113	\$63.16	\$7,137.08	\$78.00	\$8,814.00	\$48.85	\$5,520.05	\$72.00	\$8,136.00	\$56.00	\$6,328.00
24	602.0410	CONCRETE SIDEWALK 5-INCH	SF	1804	\$9.47	\$17,083.88	\$15.00	\$27,060.00	\$7.20	\$12,988.80	\$14.00	\$25,256.00	\$8.75	\$15,785.00
		CURB RAMP DETECTABLE WARNING FIELD				,				,		,	·	• •
25	602.0515	NATURAL PATINA	SF	140	\$57.89	\$8,104.60	\$60.00	\$8,400.00	\$53.43	\$7,480.20	\$56.00	\$7,840.00	\$45.00	\$6,300.00
		CURB RAMP DETECTABLE WARNING FIELD				. ,		. ,		, ,		. ,		. ,
26	602.0615	RADIAL NATURAL PATINA	SF	49	\$142.11	\$6,963.39	\$70.00	\$3,430.00	\$53.50	\$2,621.50	\$63.00	\$3,087.00	\$50.00	\$2,450.00
27	604.0500	SLOPE PAVING CRUSHED AGGREGATE	SY	521	\$68.42	\$35,646.82	\$35.00	\$18,235.00	\$72.00	\$37,512.00	\$70.00	\$36,470.00	\$65.00	\$33,865.00
28	606.0200	RIPRAP MEDIUM	CY	9	\$75.00	\$675.00	\$120.00	\$1,080.00	\$105.00	\$945.00	\$200.00	\$1,800.00	\$130.00	\$1,170.00
		STORM SEWER PIPE REINFORCED CONCRETE			,	, : : : : :		, ,=== ,5	,	, , , , , ,	,	. ,=== ,0	,	, ,
29	608.0312	CLASS III 12-INCH	LF	94	\$100.00	\$9,400.00	\$90.00	\$8,460.00	\$120.00	\$11,280.00	\$85.00	\$7,990.00	\$85.00	\$7,990.00

					PGA Inc.		A-1 Excavating LLC		Haas Sons, Inc.		Earth Inc.		Highway Landscapers, Inc.	
Line Item	Item Code	Item Description	UofM	Qty	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
		STORM SEWER PIPE REINFORCED CONCRETE												
30	608.0330	CLASS III 30-INCH	LF	10	\$200.00	\$2,000.00	\$190.00	\$1,900.00	\$345.00	\$3,450.00	\$270.00	\$2,700.00	\$150.00	\$1,500.00
31	611.0624	INLET COVERS TYPE H	EACH	1	\$1,100.00	\$1,100.00	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
32	611.1230	CATCH BASINS 2X3-FT	EACH	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
33	612.0204	PIPE UNDERDRAIN UNPERFORATED 4-INCH	LF	60	\$5.00	\$300.00	\$26.00	\$1,560.00	\$15.00	\$900.00	\$20.00	\$1,200.00	\$10.00	\$600.00
34	612.0404	PIPE UNDERDRAIN WRAPPED 4-INCH	LF	625	\$4.00	\$2,500.00	\$15.00	\$9,375.00	\$13.00	\$8,125.00	\$20.00	\$12,500.00	\$12.00	\$7,500.00
35	619.1000	MOBILIZATION	EACH	1	\$49,500.00	\$49,500.00	\$63,618.29	\$63,618.29	\$50,760.00	\$50,760.00	\$51,000.00	\$51,000.00	\$31,950.00	\$31,950.00
36	625.0500	SALVAGED TOPSOIL	SY	4020	\$5.00	\$20,100.00	\$3.00	\$12,060.00	\$4.50	\$18,090.00	\$4.00	\$16,080.00	\$2.25	\$9,045.00
37	627.0200	MULCHING	SY	1852	\$0.47	\$870.44	\$1.00	\$1,852.00	\$1.50	\$2,778.00	\$1.50	\$2,778.00	\$0.45	\$833.40
38	628.1104	EROSION BALES	EACH	100	\$15.79	\$1,579.00	\$4.00	\$400.00	\$12.00	\$1,200.00	\$20.00	\$2,000.00	\$15.00	\$1,500.00
39	628.1504	SILT FENCE	LF	545	\$4.00	\$2,180.00	\$4.00	\$2,180.00	\$4.25	\$2,316.25	\$3.50	\$1,907.50	\$3.00	\$1,635.00
40	628.1520	SILT FENCE MAINTENANCE	LF	545	\$1.00	\$545.00	\$0.01	\$5.45	\$0.03	\$16.35	\$0.10	\$54.50	\$0.01	\$5.45
41	628.2006	EROSION MAT URBAN CLASS I TYPE A	SY	2071	\$2.11	\$4,369.81	\$3.00	\$6,213.00	\$3.00	\$6,213.00	\$3.00	\$6,213.00	\$2.00	\$4,142.00
42	628.7005	INLET PROTECTION TYPE A	EACH	1	\$157.89	\$157.89	\$200.00	\$200.00	\$250.00	\$250.00	\$200.00	\$200.00	\$150.00	\$150.00
43	628.7020	INLET PROTECTION TYPE D	EACH	11	\$157.89	\$1,736.79	\$20.00	\$220.00	\$295.00	\$3,245.00	\$175.00	\$1,925.00	\$150.00	\$1,650.00
44	628.7504	TEMPORARY DITCH CHECKS	LF	70	\$105.26	\$7,368.20	\$6.00	\$420.00	\$10.25	\$717.50	\$20.00	\$1,400.00	\$100.00	\$7,000.00
45	628.7555	CULVERT PIPE CHECKS	EACH	13	\$63.16	\$821.08	\$33.00	\$429.00	\$32.00	\$416.00	\$50.00	\$650.00	\$60.00	\$780.00
46	628.7570	ROCK BAGS	EACH	100	\$10.53	\$1,053.00	\$11.00	\$1,100.00	\$7.00	\$700.00	\$17.00	\$1,700.00	\$10.00	\$1,000.00
47	629.0210	FERTILIZER TYPE B	CWT	2.9	\$210.53	\$610.54	\$110.00	\$319.00	\$125.00	\$362.50	\$200.00	\$580.00	\$200.00	\$580.00
48	630.0140	SEEDING MIXTURE NO. 40	LB	74	\$14.74	\$1,090.76	\$6.00	\$444.00	\$15.00	\$1,110.00	\$20.00	\$1,480.00	\$14.00	\$1,036.00
49	634.0618	POSTS WOOD 4X6-INCH X 18-FT	EACH	8	\$111.05	\$888.40	\$200.00	\$1,600.00	\$150.00	\$1,200.00	\$200.00	\$1,600.00	\$180.00	\$1,440.00
50	634.0620	POSTS WOOD 4X6-INCH X 20-FT	EACH	1	\$132.11	\$132.11	\$220.00	\$220.00	\$165.00	\$165.00	\$200.00	\$200.00	\$200.00	\$200.00
51	637.2210	SIGNS TYPE II REFLECTIVE H	SF	10.46	\$44.74	\$467.98	\$55.00	\$575.30	\$30.00	\$313.80	\$50.00	\$523.00	\$45.00	\$470.70
52	638.2102	MOVING SIGNS TYPE II	EACH	27	\$447.37	\$12,078.99	\$110.00	\$2,970.00	\$130.00	\$3,510.00	\$100.00	\$2,700.00	\$75.00	\$2,025.00
53	638.2602	REMOVING SIGNS TYPE II	EACH	2	\$95.21	\$190.42	\$55.00	\$110.00	\$30.00	\$60.00	\$100.00	\$200.00	\$50.00	\$100.00
54	638.3000	REMOVING SMALL SIGN SUPPORTS	EACH	11	\$105.53	\$1,160.83	\$55.00	\$605.00	\$30.00	\$330.00	\$75.00	\$825.00	\$75.00	\$825.00
55	638.4000	MOVING SMALL SIGN SUPPORTS	EACH	8	\$331.58	\$2,652.64	\$220.00	\$1,760.00	\$125.00	\$1,000.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00
56	643.0100.S	TRAFFIC CONTROL	LS	1	\$5,124.21	\$5,124.21	\$5,500.00	\$5,500.00	\$9,868.00	\$9,868.00	\$8,000.00	\$8,000.00	\$7,000.00	\$7,000.00
57		GEOTEXTILE TYPE DF SCHEDULE A	SY	596	\$5.00	\$2,980.00	\$7.00	\$4,172.00	\$3.25	\$1,937.00	11	\$1,788.00	1	\$2,980.00
58	645.0120	GEOTEXTILE TYPE HR	SY	46	\$4.00	\$184.00	\$10.00	\$460.00	\$11.00	\$506.00	\$10.00	\$460.00	\$6.00	\$276.00
59	646.1020	MARKING LINE EPOXY 4-INCH	LF	732	\$2.63	\$1,925.16	\$5.00	\$3,660.00	\$4.25	\$3,111.00	\$4.75	\$3,477.00		\$3,111.00
60	646.6120	MARKING STOP LINE EPOXY 18-INCH	LF	14	\$26.32	\$368.48	\$21.00	\$294.00	\$19.00	\$266.00	\$20.00	\$280.00		\$266.00
		MARKING CROSSWALK EPOXY TRANSVERSE												
61	646.7420	LINE 6-INCH	LF	69	\$23.95	\$1,652.55	\$15.00	\$1,035.00	\$13.00	\$897.00	\$15.00	\$1,035.00	\$13.00	\$897.00
		CONSTRUCTION STAKING	EACH	1	\$13,631.58		\$17,000.00	·	\$12,950.00		\$15,000.00	\$15,000.00	· ·	\$5,000.00
	•	SAWING ASPHALT	LF	81	\$1.36	\$110.16	\$3.00	\$243.00		\$104.49			<u> </u>	\$810.00
64	690.0250	SAWING CONCRETE	LF	1273	\$2.37	\$3,017.01	\$4.00	\$5,092.00	\$2.25	\$2,864.25	· -	\$8,911.00	· ·	\$6,365.00
65		TIMBER RAILING	LF	342	\$61.05	\$20,879.10	\$66.00	\$22,572.00	\$58.00	\$19,836.00	\$60.00	\$20,520.00		\$33,174.00
		WALL MODULAR BLOCK MECHANICALLY				. , -		, ,		, , , , , , , , , , , , , , , , , , , ,		. ,		, ,
66	1011.0001.S	STABILIZED EARTH R-37-59	SF	1740	\$71.00	\$123,540.00	\$77.00	\$133,980.00	\$91.00	\$158,340.00	\$62.00	\$107,880.00	\$115.00	\$200,100.00
67		WALL MODULAR BLOCK GRAVITY R-37-60	SF	1390	\$72.00	\$100,080.00	\$66.00	\$91,740.00	\$79.00	\$109,810.00	\$60.00	\$83,400.00	<u> </u>	\$143,170.00
	o. politioodio protesti de de diviviti il di un				7 - 2.00	\$744,047.73	7 2 3 . 3 3	\$764,120.04	7:0:00	\$768,245.26	· · · · · · · · · · · · · · · · · · ·	\$783,349.00		\$821,321.62

72nd Avenue Trail South Extension, Sunnyvale Park to Stewart Avenue I.D. 6999-18-89 (#9344291)

Owner: Wausau WI, City of Solicitor: Wausau WI, City of 10/23/2024 08:00 AM CDT

		I					Integrity	Grading and		=	
					Pember Co	ompanies, Inc.		ating, Inc.	Janke General Contractors		
Line Item	Item Code	Item Description	UofM	Qty	Unit Price Extension		Unit Price	Extension	Unit Price	Extension	
Line reem	item code	item Description	00	Part I - E		Extension	Ome ince	Extension	O.IIIC I TICC	Exterision	
1	201.0105	CLEARING	STA	5	\$1,300.00	\$6,500.00	\$1,266.00	\$6,330.00	\$1,200.00	\$6,000.00	
2	201.0120	CLEARING	ID	12	\$22.50	\$270.00	\$21.10	\$253.20	\$40.00	\$480.00	
3	201.0205	GRUBBING	STA	5	\$560.00	\$2,800.00	\$527.50	\$2,637.50	\$460.00	\$2,300.00	
4	201.0220	GRUBBING	ID	12	\$4.25	\$51.00	\$4.00	\$48.00	\$28.00	\$336.00	
5	204.0100	REMOVING CONCRETE PAVEMENT	SY	196	\$20.00	\$3,920.00	\$12.00	\$2,352.00	\$19.00	\$3,724.00	
6	204.0150	REMOVING CURB & GUTTER	LF	216	\$11.40	\$2,462.40	\$19.00	\$4,104.00	\$8.50	\$1,836.00	
7	204.0900.S	REMOVE AND REINSTALL FENCE	LF	130	\$50.00	\$6,500.00	\$50.00	\$6,500.00	\$54.00	\$7,020.00	
8	205.0100	EXCAVATION COMMON	CY	981	\$47.00	\$46,107.00	\$45.00	\$44,145.00	\$28.00	\$27,468.00	
9	208.0100	BORROW	CY	1433	\$31.25	\$44,781.25	\$50.00	\$71,650.00	\$44.00	\$63,052.00	
10	305.0120	BASE AGGREGATE DENSE 1-1/4-INCH	TON	1300	\$36.00	\$46,800.00	\$35.00	\$45,500.00	\$34.00	\$44,200.00	
11	311.0110	BREAKER RUN	TON	632	\$48.00	\$30,336.00	\$27.00	\$17,064.00	\$44.00	\$27,808.00	
12	320.0135	CONCRETE BASE 7-INCH	SY	86	\$81.00	\$6,966.00	\$76.58	\$6,585.88	\$130.00	\$11,180.00	
13	415.0070	CONCRETE PAVEMENT 7-INCH	SY	105	\$81.00	\$8,505.00	\$76.58	\$8,040.90	\$130.00	\$13,650.00	
14	416.0610	DRILLED TIE BARS	EACH	441	\$6.20	\$2,734.20	\$16.06	\$7,082.46	\$12.00	\$5,292.00	
15	465.0105	ASPHALTIC SURFACE	TON	327	\$176.20	\$57,617.40	\$140.16	\$45,832.32	\$140.16	\$45,832.32	
16	504.0900	CONCRETE MASONRY ENDWALLS	CY	23	\$1,740.00	\$40,020.00	\$1,900.00	\$43,700.00	\$1,900.00	\$43,700.00	
17	520.8000	CONCRETE COLLARS FOR PIPE	EACH	2	\$1,315.00	\$2,630.00	\$3,250.00	\$6,500.00	\$800.00	\$1,600.00	
		APRON ENDWALLS FOR CULVERT PIPE									
18	522.1012	REINFORCED CONCRETE 12-INCH	EACH	1	\$1,440.00	\$1,440.00	\$2,130.00	\$2,130.00	\$1,200.00	\$1,200.00	
		APRON ENDWALLS FOR CULVERT PIPE									
19	524.0612	SALVAGED 12-INCH	EACH	1	\$690.00	\$690.00	\$2,800.00	\$2,800.00	\$700.00	\$700.00	
		APRON ENDWALLS FOR CULVERT PIPE									
20	524.0630	SALVAGED 30-INCH	EACH	1	\$875.00	\$875.00	\$2,800.00	\$2,800.00	\$900.00	\$900.00	
21	601.0409	CONCRETE CURB & GUTTER 30-INCH TYPE A	LF	950	\$38.60	\$36,670.00	\$20.23	\$19,218.50	\$35.00	\$33,250.00	
		CONCRETE CURB & GUTTER 6-INCH SLOPED 36-									
22	601.0555	INCH TYPE A	LF	153	\$48.85	\$7,474.05	\$71.54	\$10,945.62	\$60.00	\$9,180.00	
		CONCRETE CURB & GUTTER 6-INCH SLOPED 36-									
23	601.0557	INCH TYPE D	LF	113	\$48.85	\$5,520.05	\$71.54	\$8,084.02	\$60.00	\$6,780.00	
24	602.0410	CONCRETE SIDEWALK 5-INCH	SF	1804	\$7.20	\$12,988.80	\$13.84	\$24,967.36	\$9.00	\$16,236.00	
		CURB RAMP DETECTABLE WARNING FIELD									
25	602.0515	NATURAL PATINA	SF	140	\$53.50	\$7,490.00	\$55.38	\$7,753.20	\$55.00	\$7,700.00	
		CURB RAMP DETECTABLE WARNING FIELD									
-	602.0615	RADIAL NATURAL PATINA	SF	49	\$55.50	\$2,719.50	\$62.84	\$3,079.16	\$135.00	\$6,615.00	
	604.0500	SLOPE PAVING CRUSHED AGGREGATE	SY	521	\$62.00	\$32,302.00	\$65.00	\$33,865.00	\$55.00	\$28,655.00	
28	606.0200	RIPRAP MEDIUM	CY	9	\$129.00	\$1,161.00	\$284.00	\$2,556.00	\$220.00	\$1,980.00	
		STORM SEWER PIPE REINFORCED CONCRETE									
29	608.0312	CLASS III 12-INCH	LF	94	\$96.00	\$9,024.00	\$181.00	\$17,014.00	\$89.19	\$8,383.86	

							Integrity	Grading and			
					Pember Co	mpanies, Inc.		ating, Inc.	Janke General Contractors		
Line Item	Item Code	Item Description	UofM	Qty	Unit Price	Unit Price Extension		Unit Price Extension		Extension	
		STORM SEWER PIPE REINFORCED CONCRETE									
30	608.0330	CLASS III 30-INCH	LF	10	\$286.00	\$2,860.00	\$750.00	\$7,500.00	\$425.00	\$4,250.00	
31	611.0624	INLET COVERS TYPE H	EACH	1	\$1,320.00	\$1,320.00	\$2,100.00	\$2,100.00	\$1,800.00	\$1,800.00	
32	611.1230	CATCH BASINS 2X3-FT	EACH	1	\$3,200.00	\$3,200.00	\$5,600.00	\$5,600.00	\$3,200.00	\$3,200.00	
33	612.0204	PIPE UNDERDRAIN UNPERFORATED 4-INCH	LF	60	\$37.50	\$2,250.00	\$10.00	\$600.00	\$16.00	\$960.00	
34	612.0404	PIPE UNDERDRAIN WRAPPED 4-INCH	LF	625	\$24.50	\$15,312.50	\$12.00	\$7,500.00	\$13.50	\$8,437.50	
35	619.1000	MOBILIZATION	EACH	1	\$51,275.00	\$51,275.00	\$74,500.00	\$74,500.00	\$40,000.00	\$40,000.00	
36	625.0500	SALVAGED TOPSOIL	SY	4020	\$5.20	\$20,904.00	\$8.00	\$32,160.00	\$9.00	\$36,180.00	
37	627.0200	MULCHING	SY	1852	\$3.20	\$5,926.40	\$0.45	\$833.40	\$1.75	\$3,241.00	
38	628.1104	EROSION BALES	EACH	100	\$40.00	\$4,000.00	\$15.00	\$1,500.00	\$15.00	\$1,500.00	
39	628.1504	SILT FENCE	LF	545	\$3.50	\$1,907.50	\$3.00	\$1,635.00	\$2.70	\$1,471.50	
40	628.1520	SILT FENCE MAINTENANCE	LF	545	\$0.10	\$54.50	\$0.01	\$5.45	\$0.01	\$5.45	
41	628.2006	EROSION MAT URBAN CLASS I TYPE A	SY	2071	\$3.40	\$7,041.40	\$2.00	\$4,142.00	\$2.50	\$5,177.50	
42	628.7005	INLET PROTECTION TYPE A	EACH	1	\$130.00	\$130.00	\$150.00	\$150.00	\$100.00	\$100.00	
43	628.7020	INLET PROTECTION TYPE D	EACH	11	\$100.00	\$1,100.00	\$150.00	\$1,650.00	\$100.00	\$1,100.00	
44	628.7504	TEMPORARY DITCH CHECKS	LF	70	\$14.00	\$980.00	\$100.00	\$7,000.00	\$10.00	\$700.00	
	628.7555	CULVERT PIPE CHECKS	EACH	13	\$65.00	\$845.00	\$60.00	\$780.00	\$30.00	\$390.00	
	628.7570	ROCK BAGS	EACH	100	\$15.00	\$1,500.00	\$10.00	\$1,000.00	\$15.00	\$1,500.00	
47	629.0210	FERTILIZER TYPE B	CWT	2.9	\$47.70	\$138.33	\$200.00	\$580.00	\$130.00	\$377.00	
	630.0140	SEEDING MIXTURE NO. 40	LB	74	\$6.35	\$469.90	\$14.00	\$1,036.00	\$20.00	\$1,480.00	
49	634.0618	POSTS WOOD 4X6-INCH X 18-FT	EACH	8	\$170.00	\$1,360.00	\$180.00	\$1,440.00	\$125.00	\$1,000.00	
50	634.0620	POSTS WOOD 4X6-INCH X 20-FT	EACH	1	\$172.00	\$172.00	\$200.00	\$200.00	\$115.00	\$115.00	
	637.2210	SIGNS TYPE II REFLECTIVE H	SF	10.46	\$56.90	\$595.17	\$45.00	\$470.70	\$26.00	\$271.96	
	638.2102	MOVING SIGNS TYPE II	EACH	27	\$280.00	\$7,560.00	\$75.00	\$2,025.00	\$135.00	\$3,645.00	
	638.2602	REMOVING SIGNS TYPE II	EACH	2	\$88.00	\$176.00	\$50.00	\$100.00	\$40.00	\$80.00	
54	638.3000	REMOVING SMALL SIGN SUPPORTS	EACH	11	\$88.00	\$968.00	\$75.00	\$825.00	\$40.00	\$440.00	
55	638.4000	MOVING SMALL SIGN SUPPORTS	EACH	8	\$265.00	\$2,120.00	\$150.00	\$1,200.00	\$100.00	\$800.00	
	643.0100.S	TRAFFIC CONTROL	LS	1	\$6,450.00	\$6,450.00	\$4,868.00	\$4,868.00	\$4,868.00	\$4,868.00	
	645.0111	GEOTEXTILE TYPE DF SCHEDULE A	SY	596	·	\$2,145.60	\$5.00	\$2,980.00	\$2.30	\$1,370.80	
	645.0120	GEOTEXTILE TYPE HR	SY	46		\$294.40	\$0.19	\$8.74	\$6.00	\$276.00	
59	646.1020	MARKING LINE EPOXY 4-INCH	LF	732	\$4.50	\$3,294.00	\$4.25	\$3,111.00	\$4.25	\$3,111.00	
60	646.6120	MARKING STOP LINE EPOXY 18-INCH	LF	14	\$20.15	\$282.10	\$19.00	\$266.00	\$19.00	\$266.00	
		MARKING CROSSWALK EPOXY TRANSVERSE						_			
	646.7420	LINE 6-INCH	LF	69	-	\$952.20	\$13.00	\$897.00	· ·	\$897.00	
	650.0100.S	CONSTRUCTION STAKING	EACH	1	\$12,950.00	\$12,950.00	\$12,950.00	\$12,950.00	<u> </u>	\$12,950.00	
	690.0150	SAWING ASPHALT	LF	81	\$1.70	\$137.70	\$1.29	\$104.49	\$2.50	\$202.50	
	690.0250	SAWING CONCRETE	LF	1273	\$2.70	\$3,437.10	\$2.25	\$2,864.25	\$3.25	\$4,137.25	
65	1009.0001.S	TIMBER RAILING	LF	342	\$62.50	\$21,375.00	\$97.00	\$33,174.00	\$80.00	\$27,360.00	
		WALL MODULAR BLOCK MECHANICALLY									
		STABILIZED EARTH R-37-59	SF	1740	·	\$118,320.00	\$66.43	\$115,588.20	\$149.00	\$259,260.00	
67	1011.0002.S	WALL MODULAR BLOCK GRAVITY R-37-60	SF	1390		\$93,130.00	\$66.05	\$91,809.50	\$195.00	\$271,050.00	
			Base B	id Total:		\$824,288.45		\$878,691.85		\$1,131,028.64	